
Stat2470, Quiz#1.4, n9201,4 Name

Instructions: Show all ,  You may your  ca lcu lator  ra ther compute formulas by hand, but i f
result and what information youyou do, 'show work' by i ng  wh ich  p m you used to obtain

entered. Round s of center to
places more t

dec imal  p lace more tha he data, and variance/standard
deviation to two deci the or iginal  data. Rou obabi l i t ies to three decimal
places (or percent plus dec imal  p la

1. Consider the data for 8 s (the su concrete blocks).

a, Construct a parat ive box for the data.
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average peak tresses for the two types o ncrete being measured.Does it

that the two tolerance levels are t same?
b , Estimate the

appear  p laus
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2.  In  an expe to compare t
samples of each
were computed
q=0.05 to test the sam l e  means are  a l l  iden t ica l ,
p-value for the
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vely.  Use the F test at  a level of
f  a t  leas t  one is  unequa l .  F ind  the

tensi le strengths of l=5 nt types of copper wire, J=4
type were used The between-samples a i thin*samples est imates of o2

be MSTr=3 .9  and MSE=1348.2 ,
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